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QUESTION 1

Consider the following code:

NamedCache namedCache = CacheFactory.getCache (“stock”);
Stock stock = (Stock) namedCache.get (“budgies”);
stock.increment (1) ;

namedCache .put (“budgies”, stock);

If the initial stock amount was 15, and 5 different clients (in different JVMs) attempted to execute the same code
simultaneously, what would be the resulting level of stock?

A. 20, because Coherence does implicit locking

B. 15, because a concurrency control exception will be thrown
C. 16, because of the lack of concurrency control

D. undefined, because of the lack of concurrency control

Correct Answer: C

QUESTION 2

An Oracle RAC Database appliance was initially deployed with two database instances. The load on the database has
now increased and another instance needs to be provisioned.

How would you add one more instance of the earlier deployed appliance?

A. Create and deploy a new assembly containing a single instance database appliance.

B. Add a new single instance database appliance into the previously created assembly and redeploy it.
C. Use the ScaleAppliance operation to scale up the deployed appliance instances from two to three.

D. Use the createAssemblylnstance operation to create a new instance of the existing assembly and deploy the new
assembly instance.

Correct Answer: D

QUESTION 3

What three actions can you perform while using Oracle Virtual Assembly Builder (Studio and/or Deployer)? (Choose
three.)

A. Create deployment plans.

B. Create appliances and assemblies.
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C. Build and package.
D. Transfer and deploy via Deployer.
E. Back up and restore.

Correct Answer: ABD

QUESTION 4

When an object placed into a cache implements the Java Runnable interface, Coherence will

A. immediately schedule it to be an on the service thread of the cache in which it was placed
B. do nothing; Coherence does not differentiate between types of value objects

C. ultimately attempt to run the object on a free worker thread associated with the service of the cache in which the
object was placed

D. hand the object over to the Invocation service to invoke the run method

Correct Answer: A

QUESTION 5
What is the correct order of API calls to perform an end-to-end assembly deployment operation?

A. UploadAssemblyArchive -> RegisterAssemblyArchive -> CreateAssemblylnstance -> DeployAssemblylnstance ->
UndeployAssemblylnstance -> DeleteAssemblylnstance -> UnregisterAssemblyArchive -> DeleteAssemblyArchive

B. CreateAssemblylnstance -> UploadAssemblyArchive -> RegisterAssemblyArchive -> DeployAssemblylnstance ->
UndeployAssemblylnstance -> UnregisterAssemblyArchive -> DeleteAssemblyArchive -> DeleteAssemblylnstance

C. UploadAssemblyArchive -> RegisterAssemblyArchive -> DeployAssemblylnstance -> UndeployAssemblylnstance ->
UnregisterAssemblyArchive -> DeleteAssemblyArchive

D. RegisterAssemblyArchive -> UploadAssemblyArchive -> DeployAssemblylnstance -> UndeployAssemblylnstance ->
DeleteAssemblyArchive -> UnregisterAssemblyArchive

Correct Answer: B
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